= A
A & O & A B Ml M
20199 &= 20ilat LS S X
AR PN S=IPN N
3 2= FN=A
©°e ANFXNES H= AN (&)
= - = 4 &
SH BB (3H) - NRAE - BAS of 4 o4 il HI RS2
S XX 60,363,112 56,892,946 3,470,166
= 26,634,000
< 33,729,112
= ENRI 14,693,568 14,593,346 100,222
ANKRANES H= M 14,693,568 14,593, 346 100,222
o=e EANAE 2H(FNAEFNE) 5,281,400 9,586,000 24,304,600
403 TtXI M SA=01A 5,281,400 9,586,000 24,304,600
01 TtXIEHHItE 2 & 5,281,400 9,586,000 24,304,600
OHAdg AEXNSE =4 4,281,400
oNgd A= =4 1,000,000
SR 22 ¢ 5 54 88,000 126,000 A 38,000
308 A XM SO0I& 88,000 0 88,000
10 SJ12S0tHetE & & 2 & AL I 88,000 0 88,000
OdAETL 3 Ml 7,000
OSZEr SURI SHOIX 2e| 11,000
OsEEE AT ME X3 70,000
SEUHsIA E IgANA &3 204,168 205,846 N 1,678
201 fEt2E | 54,960 56,400 21,440
01 AtR 2t 2l | 48,960 49,400 AN440
OFXNRX 4ENZ M & &-HAZ (04
= 2Z10%) 9,720
OFEXNRXRAEE 2= (0l &= 2110%) 3.240
O=U A=A A2 dSIE g 9,000
OAEXR X &= X2 (0l &HZE210%) 27,000
02 s5=3Hl 6,000 7,000 21,000
OEZEr SENRIASSANLE KX 2 1,000
OJAXNRI d2 dEXY FA2AC S 5,000
202 o4l 133,200 133,200 0
01 SLHO I 16,200 16,200 0
OFX % JIgKA (0 &= 210%) 16,200
03 =220 117,000 117,000 0
ENFI 32=204tl 117,000
203 Y=Yl 16,008 16,246 N 238
03 Al =P RFAHI 16,008 16,246 A 238
OSSN 2= (0l &= 25%) 2,708
OS XA X Al 2432 (0l &F & 25%) 13,300
=el EX0NGY 82 K& 9,000,000 4,500,000 4,500,000
403 TR M SA=01A 9,000,000 4,500,000 4,500,000
01 XM =R E 9,000,000 4,500,000 4,500,000




2N

S XY X B

M =2 EXNRX
e AXNRXNES H=2 AN (2 &HH)
5 - 4
SA BB (SH) - NRAY - B Ol At o %E& HRE2
Og=0 EXJIE KI BXx2 9,000,000
INGEEXNHA &F 8 120,000 175,500 A 55,500
201 LBt Y| 120,000 175,500 A 55,500
01 AP 22| d| 120,000 175,500 A b55,500
OJIg EXNA HEsEE & EE22 H& 120,000
Il 2 45 X 36, 158,400 22,571,600 13,586,800
hag 21,000,000
= 15, 158,400
LHa! A= 019 X 36, 158,400 22,571,600 13,586,800
= 21,000,000
=} 15, 158,400
NEENESH(=EH) 27,000,000 21,000,000 6,000,000
Fag 21,000,000
& 6,000,000
403 XX SRS K20| & 27,000,000 21,000,000 6,000,000
g 21,000,000
= 6,000,000
01 MXHHXE2E =X 27,000,000 21,000,000 6,000,000
OXNGEN=ER BX2(=EH) 27,000,000
Fag 21,000,000
= 6,000,000
NEERESH(HEEH) 9,089,000 1,500,000 7,589,000
403 XX SHS K20 & 9,089,000 1,500,000 7,589,000
01 XS A=2E X 9,089,000 1,500,000 7,589,000
OXNYENR=ER BX2(HILEEH) 5,000,000
O3 0|8I|Y HAQ =X EH (HEEH) 221,000
OEAMINMEEZZ2(HIEZH) 2,020,000
ONRIDIEEXZ2(HIEEHAH) 1,388,000
OZEAJY 22&F HEMY =& (H =S 460,000
Sy BLY2HH N3 28,000 28,000 0
308 XX EHSOIA 28,000 28,000 0
10 B 2SUHUSHEAEAE A Y| 28,000 28,000 0
O2%4dg 2328 29 28,000
JIEKX Hd2FX 41,400 43,600 A 2,200
201 LBt Y| 30,600 31,600 A 1,000
01 AP 22| H| 14,400 31,600 A 17,200
OEXNRIALs S (0l A& 210%) 2,700
OJYKX EBXZ M (0 AHE2H10%) 9,000
OEXE 2 (MOU) M Z (0l AHE 2H10%) 2,700
03 A2 HH| 16,200 0 16,200
OJIY S XA (0 A= 2H10%) 16,200




AN EXE XD

B 0l

2 Y= B3 N2

ool WA e Jlg N

SN EB S (3H) - NBAY - B2 ofl &t o SSa HDE2
202 04 d| 10,800 12,000 A 1,200
01 2L Y] 10,800 12,000 A 1,200

OJERX LR=&(0AEZ210%) 10,800
MACR 2H Y 2H 9,401,050 19,615,800 AN 10,214,750
rag 5,634,000
& 3,767,050
XA X DIEFAIE ALY KT & 5,121,050 16,031,800 A 10,910,750
rag 2,464,000
[ 2,657,050
NeEAMACT] BHELTHE(BY) 2,464,000 12,421,000 A9,957,000
= 2,464,000
403 XX S M S X201 A 2,464,000 12,421,000 A9,957,000
fag 2,464,000
01 HXHNMAHEBE = 2,464,000 12,421,000 A9,957,000
OMYHT SLEFAIE 2,464,000
hag 2,464,000

NS AMACHR S ZAH K& 20,000 62,500 N 42,500
403 XX SHMS K201 N 20,000 62,500 N42,500
01 MAXHHAEBE = 20,000 62,500 N 42,500

OAtA X 23 & A 20,000

AT ZMEA S 36,000 36,000 0
201 Bt A H| 36,000 36,000 0
01 At 22l b 36,000 36,000 0

Ottt x|l o s 29 (0l AHE 2H10%) 36,000

AMAACT X4 XS 2,601,050 3,512,300 N911,250
201 Bt 4,050 4,500 A 450
01 At 22l bl 4,050 4,500 A 450

OAMMAMAT 2 =& (0 AE210%) 4,050
403 XX S M S X201 A 2,597,000 3,507,800 A 910,800
01 MXHHEBE = 2,597,000 3,507,800 A 910,800
OMMMAST] LAY X 2,597,000
s =24 € 29 4,280,000 3,584,000 696,000
hag 3,170,000
o= 1,110,000
SEHANZTHLIHANS (s =FI|BHAIE M A 3,170,000 2,674,000 496,000
hag 3,170,000
403 XX S M S K201 A 3,170,000 2,674,000 496,000
Fag 3,170,000
01 XIS AE2E X 3,170,000 2,674,000 496,000
OsZ2CX =SI|EAIE HE(2E) 3,170,000
= 3,170,000




AN EXE XD

AT 24 2 29
ool STUR X4 U 29 (S &2)
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
SSHA S=IIEHAIE e ALY 1,060,000 640,000 420,000
403 UHXISHHSA=0l& 1,060,000 640,000 420,000
01 XK =LF 1,060,000 640,000 420,000
SSHX =FIIAIE e (=) 1,060,000
s3HRNEs 43 XA 50,000 27,000 23,000
307 glz2tol & 50,000 27,000 23,000
02 LIt HAMHEE 50,000 27,000 23,000
O=s32HXgos g4ds XA 50,000
ANEEstatds S NFged =3 23,400 23,400 0
NSt sS ?s SEHAHSI e 23,400 23,400 0
S I20AE AL 23,400 23,400 0
201 LB-2E| 18,000 18,000 0
01 At 22l 18,000 18,000 0
OILMALMEFE 5 2 (0l &= 2 10%) 18,000
202 oddl 5,400 5,400 0
01 = LH o4 1l 5,400 5,400 0
O3 YL AR FE (0l AHE 2H10%) 5,400
2L (FXL X D) 86,694 88,800 A 2,106
JI2Z (S X ) 86,694 88,800 22,106
JI2ZHI (S X X1 86,694 88,800 A 2,106
201 Let24d] 42,120 42,120 0
01 At 2teltl 42,120 42,120 0
OFXNFX LRFE (0 A 2H10%) 42,120
202 O4dl 40,014 42,120 22,106
01 = LHAYI 40,014 42,120 N2,106
SEXFX LYo AHE 2H10%) 40,014
gl 4,560 4,560 0

FA2ELHRFAHI 4,560 4,560 0
OS X Xl It (0l & & 25%) 4,560




